October 17, 2023 9:16 AM

Assignment #3 is due on Monday @ 11pm.

Let a,b ∈ F[x], a= anx+...+a,x+a, and b= bnx+...+b,x+bo and m>n.

Let a = bg+r with r=0 or degr < deg b. a=b.

The classical - algorithm does (M-n+1)-n mults in F.

If M=2n \Rightarrow $(n+1)\cdot n \in O(n^2)$.

(1) Compute q. Use the FFT.

(2) Compute $r = a - b \cdot q$ with a fast x.

Define ar = aox+a,x+...+an no reciprocal polynomial.

Idea () Compute 9= or truncated to O(xm-n+1) Than q = (q-).

Example $a = 6x^2 + 8x + 2$ $\frac{a^2 = 6 + 8x + 2x^2}{b^2 = 2 + 4x}$ $a = 6x^2 + 8x + 2$ $a = 6x^2 + 2$

-(6+12x)-4x+2x2 $-(-4x-8x^2)$ 0 +10×2

This would be O(n2).

Idea 2) We want to compute or

Compute it to O(x m-n+1) as a power series then. Compute $q_r = \frac{1}{5}$, or to $O(x^{m-n+1})$ using a second fast x in F(x).

 $b' = 2 + 4x \sqrt{11}$ $q' = \frac{1}{h^{r}} \cdot \alpha' = (\frac{1}{2} - 3)(6 + 8x + \cdots)$ = 3+4x-6x+...= 3-2x. -(1+2x) -2x -(-2x-4x2) 0+4x2

This would also not O(n2).

The would also not O(n2). in

Menan 9.2 (Modern Computer Algebra).

Let R be a comm. ring with IR. (R=F facus). Let f E R(X). (f = fo+fix+...) with fo-ER.

Let yo = fo and yi = 2yin foyin mod x2 for i>o Then $f:y_i \equiv 1 \mod x^{2^i}$ for $i \geq 0$. yi='f' up to O(>c2i).

Rod. By induction on i. We will prove 1-fy: =0 mod 2. V i=0 ! |-f·y₀ = |-(A+fxi...). f₀ = 0+.x+...=0 mod x' i>0 1-fyi= 1-f(2yin-fyin) = 1-2fy2+fy21

 $= (1 - fy_{i-1})^2$ By induction on i 1-f.yi. = 0 mad x^2

 $(1-fgi-1)^2 = (0+0x+...+0.x^{2i-1} - x^{2i-1} - x^{2i-1})^2$ $= \cdot \chi^{2i} + \cdot \chi^{2i+1} + \cdots$ $= 0 \text{ mad } \chi^{2i}.$

Recall the Newton Heather to solve f(y)=0. yo = initial approx.

yen = ye - f(ye)/f(ye).

 $f(y)=0 \implies b=y \implies y=\frac{1}{b}$ To compute $y = \frac{1}{b}$ use $f(y) = b - \frac{1}{4} = b - y^{-1}$

 $f'(y) = \frac{1}{4^2}$

 $y_{k+1} = y_k - \frac{b - y_k}{y_k} = y_k - by_k^2 + y_k = 2y_k - by_k^2 - \frac{y_k^2}{y_k^2}$ $= y_k - \frac{b - y_k}{y_k} = y_k - by_k^2 + y_k = 2y_k - by_k^2$ $= \frac{y_k^2}{y_k^2} - \frac{y_k^2}{y_k^2} = y_k - by_k^2 + y_k = 2y_k - by_k^2$ Lz Expand (gh?) mall p.

$$y_{k+1} = 2y_k - by_k \quad \text{the are no atorsions.}$$

$$y_0 = \frac{1}{b^0}.$$

$$\text{Example. Compute } \frac{1}{1-x+x^2-b^2} \quad \text{and } x^2.$$

$$\text{Lo} \quad y_0 = \frac{1}{b^0} \quad \text{mod } x = \frac{1}{1} \quad \text{mod } x^2 = 1.$$

$$\text{Li} \quad y_1 = 2y_0 - b^0 y_0^2 \quad \text{mod } x^2$$

$$= 2\cdot 1 - (1-x+x^2) \cdot 1^2 \quad \text{mod } x^2$$

$$= 2\cdot 1 - (1-x+x^2) \cdot 1 \quad \text{mod } x^2$$

$$= 2\cdot (1+x) - (1-x+x^2) \cdot (1+x)^2 \quad \text{mod } x^2$$

$$= 2\cdot (1+x) - (1-x+x^2) \cdot (1+x)^2 \quad \text{mod } x^2$$

$$= 2\cdot (1+x) - (1-x+x^2) \cdot (1+x)^2 \quad \text{mod } x^2$$

$$= 2+2x \cdot - (1-x+x^2) \cdot (1+x)^2 \quad \text{mod } x^2$$

$$= 1+x-x^2 - x^2 \quad \text{of } x^2$$

$$= 1+x-x^2 -$$

Let D(v) be the cost of dividing a(a) : b(a) to get The quotient q and remainder r.

D(n) = I(n) + M(n) + M(n) + cn $(B)^{-1} q^{-1} B \cdot a^{-1} a - b \cdot q = 0$ $D(m) = 5 M(n) + c.n. \in O(M(n)).$

It is possible using the "middle product" of Zimmermann et.al.

to reduce I(n) < 2 M(n).

Then D(n) < 4 M(n).